11@110 (Kl 1@110)

BN Linearized knot diagam

5 1 9 10 2 11 3 4 8 7

A S
w ' 7\ 9/8
| 7 Solving Sequence

2,6654>1ﬁ3%1lﬁ7ﬂ8%10%4?9%03a08
9

A knot diagranﬂ cs T c1 e el cg e clg o Ca

Ideals for irreducible component#ﬂ)f Xpar

It = (u®® —u' o — 4P 1)

* 1 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIy=(u®—ut" ... —4u® +1)

(i) Arc colorings

w- (1)

1
ag = 0
1
as = _u2
u
ar = \—ud+u
—u3
a3 = \u® —ud+u
ud
apl = (ud + u)
wb —ut+1
a7 = \ —yf 4 2u* — u?
wt — 3ul? + 4010 — 8 + 1
ag = \ —y'0 4 4y — 82 + 80 — 448 — 208 + 40t — 202
wd —2uT +ub 4+ 2u —u
a0 =\ —u?+3u" -3 +u
w20 — 508 4+ 1100 — 100 — 202 + 1300 — 9B + 3ut — w2 + 1
ag = \ —u20 4 6ul® — 16u!® + 2201 — 13012 — 4410 + 10u® — 408 — u?
—u®? 4+ 10037 + -+ 4ud —2u
ag = ut — 11w+ 22U 4w
—u? + 100" + -+ 4ud - 2u
ag = utt — 1103 + -+ 20 +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’” — 56u*® + -+ — 8u? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs T N Ve R Ty |
C2 ut® 27t 4 280 41
c3,C8 u® — 4t 1
Cq,C7 Bt A+ 17
Cg, C10, C11 w3+ +8u+1
9 u®® =250t 4 —4u? 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Yy =2yt 28 1
€2 y* —11y" T+ 43087 + 1
c3,C8 ' 251 4 — 4?41
c4,C7 y*® — 31y + .-+ + 2620y + 289
C6, €10, C11 y*® 4994 + . 4+ 56y + 1
Co y® =3yt =8y +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = 0.958219 4 0.1433071 —1.66920 — 0.312181 | —6.04929 + 0.554601
uw= 0.958219 — 0.1433071 —1.66920 4 0.312181 | —6.04929 — 0.554601
u= 0.914661 + 0.5040151 4.41403 — 0.701271 5.15173 4 2.651091
u = 0.914661 — 0.5040151 4.41403 + 0.701271 5.15173 — 2.651091
u = —1.046740 4 0.0686351 0.77690 — 3.724761 | —1.95300 + 3.668071
u = —1.046740 — 0.0686351 0.77690 4 3.724761 | —1.95300 — 3.668071
U 1.011960 + 0.286206.1 —2.55221 — 0.926431 | —6.15695 + 0.735911
u = 1.011960 — 0.2862061 —2.55221 4 0.926431 | —6.15695 — 0.735911
u = —0.950614 4 0.4842611 0.72805 + 4.581191 0.34102 — 6.392381
u = —0.950614 — 0.4842611 0.72805 — 4.581191 0.34102 + 6.392381
u = —1.021410 + 0.3801171 —1.89118 4 4.835131 | —2.88338 — 8.664891
u = —1.021410 — 0.3801171 —1.89118 — 4.835131 | —2.88338 + 8.664891
u= 0.963622 4 0.5109911 3.78897 — 9.131871 3.52711 +9.358821
U 0.963622 — 0.5109911 3.78897 4+ 9.131871 3.52711 — 9.358821
u = 0.080810 + 0.8508121 —0.65137 + 8.588151 2.17259 — 5.821351
u = 0.080810 — 0.8508121 —0.65137 — 8.588151 2.17259 - 5.821351
u = —0.013057 + 0.8521921 —5.99169 — 2.359541 | —2.55512 + 3.349731
u = —0.013057 — 0.8521921 —5.99169 4 2.359541 | —2.55512 — 3.349731
u = —0.065516 4 0.8409701 —3.41452 — 3.720231 | —1.09842 + 2.424911
u = —0.065516 — 0.8409701 —3.41452 4 3.720231 | —1.09842 — 2.424911
u = —0.757474 + 0.3665881 1.28610 + 1.697031 6.44180 — 4.953541
u = —0.757474 — 0.3665881 1.28610 — 1.697031 6.44180 + 4.953541
u = 0.079356 4 0.8079651 0.763972 + 0.2845321 4.14710 + 0.310001
U 0.079356 — 0.8079651 0.763972 — 0.2845321 4.14710 — 0.310001
u = 0.546437 + 0.5417461 5.44153 — 3.537161 7.56794 + 3.986031
u = 0.546437 — 0.5417461 5.44153 4 3.537161 7.56794 — 3.986031
u = 0.468200 4 0.5699107 5.17049 + 4.813471 6.85493 — 3.775581
u = 0.468200 — 0.5699107 5.17049 — 4.813471 6.85493 + 3.775581
u = —1.214630 + 0.4204761 —3.06688 + 3.969051 0

u = —1.214630 — 0.4204761 —3.06688 — 3.969051 0




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

= —0.484203 + 0.5093441

2.02079 — 0.490001

3.99733 + 0.213491

u = —0.484203 — 0.5093441 2.02079 4 0.490001 3.99733 — 0.213491
u= 1209970+ 0.4894771 —2.57490 — 5.013681 0
u= 1209970 — 0.4894771 —2.57490 4 5.013681 0
uw= 1237110+ 0.4258731 —7.33658 — 0.706471 0
uw= 1.237110 — 0.4258731 —7.33658 + 0.706471 0
u = —1.243170 4 0.4160591 —4.66901 — 4.183671 0
u = —1.243170 — 0.4160591 —4.66901 4 4.183671 0
u = —1.224430 + 0.4907421 —6.86889 + 8.534271 0
u = —1.224430 — 0.4907421 —6.86889 — 8.534271 0
u = 1.240090 + 0.4551941 —9.75907 — 2.281641 0
u= 1.240090 — 0.4551941 —9.75907 4 2.281641 0
u = —1.237470 + 0.4682241 —9.66500 4 7.077481 0
u = —1.237470 — 0.4682241 —9.66500 — 7.077481 0
u = 1.225480 + 0.4988221 —4.07278 — 13.471701 0
u= 1.225480 — 0.4988221 —4.07278 4 13.471701 0
u = —0.177212 4 0.4468341 0.31404 — 1.444031 2.46816 + 4.798491
u = —0.177212 — 0.4468341 0.31404 + 1.444031 2.46816 — 4.798491




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs uB 4+t A 41
€2 u*® +27utT 44280 + 1
c3,Cs u® — Tt 41
C4,C7 u® 4+t o~ ddu 17
C6, C10, C11 B+ 3+ +8u+1
Co u®® — 250t 4 — 4w 41




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cs y?® =27yt 283 41
C2 y*® — 119"+ 4+ 308y + 1
cs, Cs Yy 254+ — 4?1
4, C7 y*® — 31y*T + - + 2620y + 289
C6, €10, C11 y*® +49y*7 + - 4 56y + 1
9 y® =3yt —8y+1




